C:# Ausdricke vereinfachen

Name:

Verklrzejeden Ausdruck und fasse gleiche Terme zusammen.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

-13y°+2y +5y°
15y +9+1x°-11-9+2x"

7X+13z-2z+6

-5y2+7x-15y2+0

2y+8-5
7y6+15x+0x+7y5+3y6
-14+14+2y°+9y+10y°-11y°
-3y9+122-6y9+7x+ 10x
13x°+13z+13z+0x"
-1y+0x8-2x8+8y2-7y2+ 1Oy2
-1y7+15y-3y-6+8y-5

-12y+2y +3x+15y

-10z+13y+7z+1z+10z

10z-10+12+9-12

10.

11.

12,

13.

14.

Antworten
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Ausdricke vereinfachen

Name:

L dsungsschltissel

Verklrzejeden Ausdruck und fasse gleiche Terme zusammen.

1) 13y5+ 2y9+ 5y9

2 15y%+9+1x%11-9+2x®

3) 7x+13z-2z+6

4 -5y2+7x-15y2+0

5) 2y+8-5

®) 7y6+15x+0x+7y5+3y6

N _1a+14+2y°+oy+10y°-11y°

8 -3y9+122-6y9+7x+ 10x

9 13x54+137+132+0x°

10) -1y+0x8-2x8+8y2-7y2+10y2

19) -1y7+15y-3y-6+8y-5

12 _12y+2y°+3x+15y

13) -10z+13y+7z+1z+10z

14) 10z-10+12+9-12

10.

11.

12,

13.

14.

Antworten

-13y5+7y9

15y°-11+3x°

X+11z+6

20y +7x+0

2y+3

10y°+15x+7y"

O+1y +9y

-9y9+ 12z+17x

13x°+262

“1y-2x +11y°

“1y'+20y-11

3y+2y9+3x

8z+13y

10z-1
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